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tone()

A RLLEAE E B A — A A H R 5006 98 8 SR Y U5

EiE

tone(pin, frequency)
tone(pin, frequency, duration)

SH

pin. 77 26 17T

frequency : i i (% 45 % , unsigned int %Y,

duration: 7 i FFEE AT E] L PN A Z RS . USRI 1% S50, Arduino B 542 K& H % E 1Y

O BN AR & R Y #E H noTone O pRELIS 1R & 75
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tone) Fll analogWrite O e ECHR v UL H 5 3% AR R A9 2 tone O RS S T I A9 5 =5 |
[ 5E (5020 P85 B2 5 P B4 5 10 analog Write O bR R HY 9 55046 5] 52 (24 490 Hz) .3
WIS .

T EE R A [ — I H) tone O pREALBEAE ] — A 5110, W 2R A 2451 & 261
tone ) FREL , IR LS FH noTone O U IEZ BT E LA T toneO) R 5] A, F-f A
tone O BB A T —A48 7€ 5| Y J7 P i

noTone()

P kA6 A 5B b B O I e

EiE

noTone(pin)

2

pin: 7 B8 1 J7 P i A S

iR [E{E

P

T TACRE ] tone O pREICHK B 34 15 25 18 il 7

3.1.1  WEmg IR yH

G 5 e N SR BT (&) 3-1) 02 —Fh — IR A 25 48 () e TR g, R ] U i R AR F L T2
AT ENL &S BT ER s,

TC U5 e 0 25 T 75 i A AR IR T U B —E BRI T . AN TR B 5 A 23 AR
ANTE . R R FRATEE A X A AR T tone O bR BRI H A (8] 90 45038 1 5 L S B
Arduino 1 ik {7 50 i+ .

T SR A D 610 i e g R L ) O B SR AR B AT s SR 0 N i 4 A R Bk
e 2%, v E 3-2 o g k.
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/ %

melody

Plays a melody

This example code is in the public domain.
http://arduino. cc/en/Tutorial/Tone

*/

# include "pitches. h"

AGE SRR
int melody[] = {
NOTE_C4, NOTE_G3, NOTE_G3, NOTE_A3, NOTE G3,0, NOTE B3, NOTE C4};

[/ EFF R GRS E]) 4 Ay ERF, 8 h/N\4rHLF
int noteDurations[] = {
4,8,8,4,4,4,4,4};

void setup() {
/73 5 #E A i 16 A

for (int thisNote = 0; thisNote < 8; thisNote++) {

//noteDurations[ 1541 o 77-fiff ) J2 35 4 (4 2 0
/TR B R A Rk, ik
/]S 7 SRt ] = 1 000ms / 35 45 2
/7, 4SS = 1000/4, \AFE4F = 1000/8

int noteDuration = 1000/noteDurations[thisNote];
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tone(8, melody[thisNote], noteDuration);

/75T RE BB S TR 0 R, AE A R IR — Y A
/73T 30 % SRR i) R Ll A4 A 1

int pauseBetweenNotes = noteDuration x 1.30;
delay(pauseBetweenNotes) ;

/1R RS

noTone(8) ;

void loop() {
[IREP I ARTESR, KX B oo

0 P LA 5 P B e g 35 3 i B — A 5L R 6 DI A B Sk SO pitehes, b o
OSSR T A R AT SR A4 6 7 9 5 9 L 76 toneMelody F B T3 $E 4 SL, L SR i g s 451
JFATIF IR I I 25 7 1 1R i 7 301K A3k SO (1 3-3)

& toneMelody - pitches.h | Arduino 1.6.12 o O X
Wit |58 mE TR &8

pliches h

#define NOTE_B® 31
#define NOTE_C1 33
#define NOTE_CS1 35
#define NOTE_D1 37
9 d#define NOTE_DS1 39
12 #define NOTE_E1 41
11 #define NOTE_F1 44
12 #define NOTE_FS1 46
13 #define NOTE_G1 49
14 #define NOTE_GS1 52
15 #define NOTE_A1 55

16 #define NOTE_AS1 58
#dafina MATE R1 &2

OO b WA -

& 3-3 pitches. h 34
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2R S T A AR OGBS W R B S — 44 O pitches. h B3k
SO A 3-4 R L 7R IDE b, By 83 0 WERRAS T O B/ = R AR A T TE T O Y
iy AHE P EACHT SCIE A, pitches. b, IF B “dr 44

‘9 ;cmhomDC.aMdumoiﬁlZ o ®
|3H RS WE TR =i

WS CtrleShifteN

I o
| 29 B
3 105 void setup() { m
| A /i iterate over the notes of the melody:
| 32 for (int thisNote = @; thisNote < B; thisNote++) { =45 Cul+Alr+FfER®
|33 F—RE  CirleAlsmER
34 ff to calculate the note duration, take one second
1 35 // divided by the note type sketch oct06a
| 36 /fe.g. quarter note = 180@ / 4, eighth note = 1002/8, etc.
| 37 int noteburation = 1888 / noteDurations[thisNote];
i 38 tone(8, melody[thisNote], noteDuration);
19

| 40 /! to distinguish the notes, set a minimum time between them.
] /f the note's duration + 30X seems to work well:

| a2 int pauseBetweenNotes = noteDuration = 1.38@;

| 43 delay(pauseBetweenNotes);

| a4 /I stop the tone playing

noTone(8);

| AevoRa loopl) {I
| ‘.u /i no nee to repeat the melody

3-4 I H PEs i Sk

B H L S IDE £3AE I H SO e o — A4 O pitches. h 1y SCHF L FFFT IR XAS
Ao ARG T EOR pitches. h BN A S AZSCHF . AT LATE Arduino %2 4% H 548 3 pitches.
h X A3 (Arduino 423 H % \examples\02. Digital\toneMelody\ pitches. h),
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# include "pitches. h"

void setup() {
/19 Ui A 4 S H T 2 B |
pinMode(2, INPUT) ;
pinMode(3, INPUT) ;
pinMode(4, INPUT);
pinMode(5, INPUT) ;
pinMode(6, INPUT) ;
pinMode(7, INPUT) ;
pinMode(8, INPUT) ;
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void loop() {

/IR YRS Hh 45 e AR HOR 2
[/ R R, W) & A R B
if (digitalRead(2)){

tone(10, NOTE C5,10); //Do(523Hz)
}
if(digitalRead(3)){

tone(10, NOTE D5,10); //Re (587Hz),
}
if(digitalRead(4)){

tone(10, NOTE_E5, 10); //Mi(659Hz)
}
if(digitalRead(5)) {

tone(10, NOTE_F5, 10); //Fa(698Hz)
}
if(digitalRead(6) ) {

tone(10, NOTE G5, 10); //So(784Hz)
}
if(digitalRead(7)){

tone(10, NOTE_A5, 10); //La(880Hz)
}
if(digitalRead(8)){

tone(10, NOTE_B5, 10); //S1(988Hz)
}

}

G RO AL R IR RIAT DUFT A B B o 1 B0 28 — A ) S il 7 1 o i T LU
S Il 5 e A LA R A R LU ARAR AN ) A AR B R

% 4

3.2 BkMEEN

Arduino # T pulselnO & H, TR 51 Lk b5 5 B9 58 52 .
pulseln()

K48 72 5 B8 6 ik o A 5 B
911401 o 224 ARG I 2 R ik o e pulseln() (e AR %IH*H%JAE@EE"xm»éIW“
JE FF IR AR AR AR 4 1R TR . pulseln O pR %2> XA Wk vh A5 5 RE 2L Y
T o B33 A ok e 11 56 32
PRBIC 1T 35 o Ao ST ) ) SR A o 38 A S ) AT R A 0 3 ik o, ) 2538 8 pulseInO) B
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EiE

L . )

pulseln(pin, value)

pulseln(pin, value, timeout)

pin: i Z UK 5] .

value: 7 ZLEEHUA Pk s 267, HIGH 1 LOW,

timeout: R A [E] , B0 R RS Cus) S B4R 2R o A5 KB A,

iR E1E

AR [ ok e G B RS (s s B 2R R AT 5 K 4 A T SR AR 4 ) N A A
2] ik o, SR 9] 0,

N M2 2RI pulseIn O bRk 8 75 I A% Jk s 56 O IR T4 .

7 D SR AR 1R T 20 000 Hz 1) 75 Dk B 48 1l Mk 5 B T T FE 248, 78 A0 o v % 496 1 B
B PRI 280 0 2 B S L AR IR AR TS A 22 L 3k L R A A — R DL 4 R
IR .

1. SR04 #B7= i {5 B 28

SRO4 (P& 3-6) J2& 1| FH A 7 15k 45 1 G 000 B 85 %) % Dt . Al A S s e 3k L 49 1
VB K S AR O 7 i . 5 LR 3~450cm,

2. T1E/REE

UnTEL 3-7 F 7 o P U5 A S5 i 1) i — 7 1) A S 8 P 90 A K St D () I O A 3 e RS
T8 25 U A B A v il 30 B B A0 S AR ] ke o R P 90 e WA s WA 380 R A A S RIS Ak
PR 2 P WAL R 2008 340m/s AR TH I 2590 s B9 B 1) 2 sl ] USSR 1 Ok S o B
TR BE S 5o B . s=340m/s X ¢/20 33X AR T I8 A I 8] 22 0 B 9%

T R

AUEZIER
P 3-6 SR04 7 P A2 i s 3-7 R P R B OR R
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SRO4 M PRI HA 4 A5 . £ D Be L& 3-1.
% 3-1 SR04 B|HJ

3l il i ]
Vee R 5V
Trig ik 2 5 1 1D
Echo [m] 45t 5 | JA
Gnd He g1

4. W&
anl&l 3-8 Fr7R ] Arduino 198 5145 SR04 19 Trig 518 2 /D 10ps #8 HL 15
5 il & SRO4 L H I BE Ty g .
Miklss [ [1onshuRE [

& 3-8 Arduino & % fit X 15 5
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WnfE 3-10 Bz - AT A5 53R 101 Echo 5182 fay 1 5 At ~F o o FL - 457 25 1) I ) 30 2 o P
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/ %

SR04 i i i 1% R £ 3K 3l
H O R I B

%/

/¥ 5E SR04 HEHE Y Arduino G
const int TrigPin = 2;

const int EchoPin = 3;

float distance;

void setup()

{ //9a A LB (5 % #2 SR04 1951 )
Serial.begin(9600);
pinMode(TrigPin, OUTPUT);
J/EERG TS| 1 A0 Bk o o B, T S R O R AR
pinMode(EchoPin, INPUT);
Serial.println("Ultrasonic sensor:");

void loop()

{
/17— A 10ps 95 Bk 22 ik & Trigpin
digitalWrite(TrigPin, LOW);
delayMicroseconds(2);
digitalWrite(TrigPin, HIGH);
delayMicroseconds(10);
digitalWrite(TrigPin, LOW);
/7RI ik wh S BE, OF 5L B S
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distance = pulseIn(EchoPin, HIGH)/ 58.00;
Serial. print(distance);

Serial. print("cm");

Serial. println();

delay(1000);

It AT ARG FTIT B 10 WE 28 . 10 8 75 e A% 8 XoF 1) 7 22 00 4 g 4 B T
F 2 Y A DAL RS R R R ES L A 3-12 R
' COM6 - oIEN

EN

Ultrasenic sensor ~

i

~

[ gahigsh BT (L) v (9600 bend o

Bl 3-12 e 3k I iE &5 2R

PRBER JEE 308 L S T 7 B A2 ik PR R A R ) T L S A A A TR/ A A A
TE P A S A N o A R LA 30 S ) )

3.3 SpERHER

PR 7B AT P N 7 2 A — SE SRR 0 R AR NS e — A% R A A A T 45 SR AR S . A
FHAE 10 04 I 2R I 2803 AT+ A6 A I ) A5 5 T o B 7 A 0 T L2 38 2k S A 0

W 3-13 firzs » th W B2 7 T DL AR & — Bophor T £ Z AN AR e 24 v W fh & L 4%
il f% 23 B A5 M B AE AR s AT i ARy bR s AT s W R Iy L P W AR s AT o ) . 2 (e E)
R AR AL AR Ss AT AR . W BTk 0 S i 1 A B R R ROR
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Main

attachinterrupt( );

B 3-13 k4

3.3.1 A

AN e pR AR A R R B R T B R AN R T L BT v RS | I 7
R4 A0 15 45 30k 18 v AR X 2 5 — A v B ik % S ST 1R P BT eR R

1. hEFSIE Rl HES

TEARE S K Arduino FEH] 8% F . P KT5|IE AL B WA 6 B W5 5 & A 78 7 b
F T BER 51 I L s Arduino A BEHE 3R 13X 4 v Wi (S 5 I8 450 i v,

1£ Genuino 101 b @ Wil FH . A H A Arduino #6188 26 A AN [H . HA Arduino H

AR 5 ISR SR W L W 5 A0S S R N —RE Y s T Genuino 101 T4 5| 14T
SCRFAN R T oh W g R 5 IR

2. TR

BT BT AR A ik A S0 T B A R A S SR A DA R R v A el 2 v
W fi A 11977 20 K2 AL Arduino SZHFER 3-2 7 i1 DU 7 figh %2 7 X
®3-2 WRABPEMEEN

g K U i

LOW IR HL T fih

CHANGE F P AR AL i s e E T AR AR R T A1 R TS 1 T
RISING TR Al K AR R AR i L

FALLING TR i K v T AR A LT
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3. HETEY

%T&E*%Tﬁfﬁﬁb,L%%ﬁ‘? AW 17 B A PR Py e T e R, 20 T
J&i » Arduino RI22ia 473X 4> pRA . 3% PRECR BB AT T 2 80, ELIR [71 2R 8 0 23 . 40

void Hello()

{
flag = true;

}

é*%ﬁﬁékli Arduino B2 AT XA s 191
XS UE S TR 5 . 3B 75 BAE SetupO i I attachInterruptO) pREXT o Wi 5| 1 2F

WAL B, AP IS Arduino AN W T aE  HoOrik i F .

(1) attachInterrupt(pin, ISR, mode)

S8

pin: HETG] A

ISR v BT oRi £ 44 5

mode: HIHTAEA .

.

attachInterrupt(2, Hello, LOW);

A 2 I Genuino 101 B 2 551 I Ch B g5 5 0) B9 SMER o BT D RE -6 & K BT i
iz W, X2 S5l L &R Z WS 8 & . Arduino Bl 2217 HelloO)
BRI
USRS TG A A A W T a] LA H B 3 25 pR L detachInterrupt O 2k 5 P A 7 2 fig
(2) detachInterrupt(pin)
A AR b T
S pin: T LA WS4

3.3.2 B B ok e e e g T R T B

X RHIE— B BB B B BT EE ST W R 55 0 3 R 2 A R R A
v KL A 7 2 15 A AR G SR A A ) A A i A B S B A
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101 /9 2 5 51 B L R B A v S s i ko 24 WP bl AL s I DL IRl 2 L ik A 8

5 | B ) B N R s A IR L R e R A B B LR R
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*/

[ TBRANTCIE R, 08 25 % 7

volatile boolean RunBuzzer = true;

void setup()

{
Serial. begin(9600);
/1006 AR A1 A e
/7% 2 5351 Byt A9t h RS I RT, 52 oF B 2L warning
attachInterrupt(2, warning, CHANGE);
1

void loop()
{

if (RunBuzzer)

{
tone(8,1000);

}

else

{

noTone(8) ;
}
}

/77 i o K
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void warning ()

{

RunBuzzer = ! RunBuzzer;

}

b AR TP 2 W B 06 g A o A S T SR A G Y A 0 A e A R
W A Ok

FEUE R ot ZEAE P T ok B s v A e A volatile S SCHBE G g 15 A0 AL 1 I
T PP is A7 5



